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N.B.:
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2)

All questions are COMPULSORY.
Figures to the right indicate FULL marks.

Q.1

Q.2

Q.3

Q4

Q.S

Explain the Indian economy at the time of Independence Period. [16]
OR

What are the characteristics of Indian economy?

Attempt ANY TWO of the following: [12]

What are the difficulties in measuring National Income?
State the importance of water resources.

Explain the Recent Population Policy of India.

Attempt ANY TWO of the following: [12]

Explain the broad demographic feature of population.
What is the role of infrastructure in economic development?

Explain the causes of rural to urban migration of population.

Attempt ANY THREE of the following: [15]
Explain the sectional distribution of National Income.

Explain the concept of NNP.

Discuss the ‘Human Development Index’.

Explain the trends of National Income.

Write short notes on ANY THREE of the following: [15]
Land Resources

Energy

Agriculture Sector

GDP
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